DOUBLES QUIZ

In each case, note down the meaning of the double (e.g., takeout, penalty, impossible, whatever) and any particular guarantees or promises made (e.g. at least seven points and should have four spades). All bids by the opponents are in brackets.

(1) 1H
(1S)
2D
(2S)


DBL

(2) 1H
(1S)
2C
(2D)


DBL

(3) 1H
(P)
1S
(2D)


DBL

(4) 1H
(P)
2C
(2D)

DBL

(5) 1H
(1S)
P
(P)

DBL
(P)
2H
(2S)


DBL

(6) 1H
(1S)
P
(P)


DBL
(P)
2C
(2S)


DBL

(7) 1H
(1S)
P
(P)

DBL
(P)
2C
(2D)


DBL

(8) 1H
(P)
1S
(2D)

P
(P)
DBL

(9) 1H
(P)
1S
(2C)

P
(P)
DBL
(3C)

DBL

(10) 1H
(P)
2C
(2D)

P
(P)
DBL

(11)
1H
(P)
2H
(2S)


DBL

(12) 1H
(P)
2H
(3C)


DBL

(13) 1H
(P)
1S
(3D)


DBL

(14) 1H
(P)
2C
(3D)


DBL

(15) 1C
(2H)
2S
(3D)


DBL

(16)
1C
(2H)
2S
(3H)

DBL

(17) 1H
(P)
2S
(3D)


DBL

(18)
1H
(P)
2C
(3S)


DBL

(19)
1H
(DBL)
2C
(2S)


DBL

(20) 1C
(1H)
2S
(3H)


DBL

(21)
1C
(1H)
2S
(3D)


DBL

In 22ad the overcall is natural.

22a
1NT
(2C)
DBL

22b
1NT
(2D)
DBL

22c
1NT
(2H)
DBL

22d
1NT
(2S)
DBL

In 23ac, two clubs is Cappelletti (any one‑suiter).

23a
1NT
(2C)
DBL

23b
1NT
(2C)
2D

23c
1NT
(2C)
2NT

In 24ad, two diamonds shows a major two‑suiter.

24a
1NT
(2D)
DBL

24b
1NT
(2D)
2H

24c
1NT
(2D)
2S

24d
1NT
(2D)
2NT

In 25a, the two‑heart overcall is natural.

25a
1NT
(2H)
DBL

In 25b, the two‑heart overcall is a transfer bid showing spades.

25b
1NT
(2H)
DBL

In 25c, the two‑heart overcall is Cappelletti: hearts and a minor.

25c
1NT
(2H)
DBL

(26)
1NT
(P)
P
(2H)


DBL

(27)
1NT
(P)
2C
(2H)


DBL

(28)
1NT
(P)
2C
(2H)

P
(P)
DBL

(29)
1NT
(P)
2C
(P)

2D
(2H)
DBL

(30) 1NT
(P)
2D
(2S)

P
(P)
DBL

(31) 1NT
(P)
P
(2D)

P
(P)
DBL

In 32, the two‑club overcall is either (a) Asptro: hearts and another or (b) Landy: both majors. Include answers for both.

(32)
1NT
(P)
P
(2C)

P
(P)
DBL

(33) (1H)
DBL
(2H)
DBL

(34) (1H)
DBL
(1S)
DBL

The jump to two spades in 35 is (a) weak, or (b) fit‑showing, or (c) natural and game‑forcing. Include answers for all three.

(35) (1H)
DBL
(2S)
DBL

(36) (1H)
1NT
(2H)
DBL

(37) (1H)
1NT
(2C)
DBL

(38) (1H)
2D
(3H)
DBL

(39) (1H)
2D
(P)
P

(3H)
P
(P)
DBL

Would it make any difference in 40 if the one‑spade bidder were a passed hand?

(40)
1C)
1H
(1S)
DBL

(41)
(1C)
1H
(1NT)
DBL

The jump to two spades in 42 is (a) weak, or (b) fit‑showing, or (c) natural and game‑forcing. Provide answers for all three.

(42)
(1C)
1H
(2S)
DBL

The jump to three spades in 43 is invitational.

(43)
(1NT)
2H
(3S)
DBL

In 44 and 45, the two‑club overcall means whatever you want it to mean (start with your own version). If it varies depending upon the strength of the notrump and/or position at the table and/or whether or not you are a passed hand, give all the possibilities.

(44) (1NT)
2C
(2S)
DBL

(45) (1NT)
2C
(3C)
DBL

In 46, two hearts is weak.

(46) (2H)
2S
(3C)
DBL

(47) (3H)
3S
(4H)
DBL

In 48, is the pass directly over 4H ever forcing? Explain further.

(48) (3H)
3S
(4H)
Pass

(P)
DBL

In 49, four clubs is either (a) natural or (b) Texas showing a strong four‑heart opening. Provide answers for both.

(49) (4C)
DBL

(50) (4H)
DBL

(51) (4S)
DBL

(52) 2C
(2H)
DBL

(53) 2C
(2H)
P
(P)

DBL

(54) 2C
(P)
2D
(2H)


DBL

(55) 2C
(P)
2D
(2H)

P
(P)
DBL

(56) 2D
(2H)
DBL

(57) 2D
(3H)
DBL

(58)
(1H)
DBL
(P)
2C

(2H)
DBL

The one‑notrump opening in 59 and 60 shows 12‑14 points. Is a pass over two diamonds forcing?

(59)
1NT
DBL
(2D)
DBL

(60) (1NT)
DBL
(2D)
P

(P)
DBL

The two‑notrump overcall in 61 shows both minors.

(61) 1S
(2NT)
P
(3D)

P
(P)
DBL

Does your answer to 62 vary with the strength of the opening bid?

(62) P
(1NT)
P
(P)

DBL

In 63-64, two diamonds is a transfer bid, always showing hearts.

(63) (1NT)
P
(2D)
DBL

(64) (1NT)
P
(2D)
P

(2H)
P
(P)
DBL

(65) (1NT)
P
(2D)
DBL

(2H)
P
(P)
DBL

(66) (1H)
P
(P)
DBL

(2H)
DBL

(67) (1H)
P
(1NT)
P

(2D)
DBL

(68) 1H
(DBL)
P
(2C)

 P
(P)
DBL

(69) 1H
(P)
P
(1S)

P
(P)
DBL

(70) 1H
(P)
P
(1NT)

P
(P)
DBL

(71) (1H)
1NT
(2H)
P


(P)
DBL

(72)
1H
(1S)
2D
(2S)

P
(P)
DBL

(73)
1H
(1S)
2D
(3C)

P
(P)
DBL

(74)
2S
(3H)
DBL

(75)
2S
(DBL)

RDBL

(76)
(1H)
2NT
(DBL)

RDBL

(77)
1S
(P)
2S
(3D)

DBL

(78)
1S
(P)
2S
(3H)

DBL

(79)
1S
(P)
2D
(3H)

DBL

(80)
1D
(1S)
DBL
(2S)

DBL

(81)
1D
(1S)
DBL
(2S)

P
(P)
DBL

(82)
1D
(1H)
1S
(2H)

DBL

(83)
1D
(1H)
1S
(2H)

P
(P)
DBL

(84)
1D
(1H)
1S
(2C)

DBL

(85)
1D
(1H)
1S
(2C)

P
(P)
DBL

(86)
1D
(1H)
1S
(2C)

P
(2H)
DBL

The two-diamond bid in 87-98 is a transfer to two hearts (if it could have additional or alternative meanings, please develop the auctions accordingly)

(87)
1NT
(P)
2D
(2S)

DBL

(88)
1NT
(P)
2D
(2S)

P
(P)
DBL

(89)
1NT
(P)
2D
(P)

2H
(2S)
DBL

(90)
1NT
(P)
2D
(P)

2H
(2S)
P
(P)

DBL

(91)
(1NT)
P
(2D)
2H

DBL

(92)
(1NT)
P
(2D)
2S

(3H)
DBL

(93)
(1NT)
P
(2D)
2S

(3H)
P
(P)
DBL

(94)
(1NT)
DBL
(2D)
DBL

(1NT=12-14)

(95)
(1NT)
DBL
(2D)
DBL

(1NT=12-14)

(2H)
DBL

(96)
(1NT)
DBL
(2D)
DBL

(1NT=12-14)

(2H)
P
(P)
DBL

(97)
1NT
(P)
2D
(2NT=C+D)

P
(3C)
DBL

(98)
1NT
(P)
2D
(2NT=C+D)

DBL

(99)
3C
(DBL)
4C
(4S)

DBL

(100)
3D
(4S)
4NT
(5S)

DBL

(101)
P
(4C)
DBL
(4H)

DBL
(P)
P
(5C)

DBL
